Sr. No. 1 Gm 57
Paper - I -
(Aptitude Test)

Maximum Marks : 150 Time : 9:30 am to 12:00 Noon

English 30 Marks

Punjabi 30 Marks

Teaching -30 Marks

" General Knowledge/Current Affairs 30 Marks

— Mental Aptitude 30 Marks
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Name :
(Signature of the Candidate)

INSTRUCTIONS
- . Paper - 1 (Aptltude Test) consists of five sections i.e. English, Punjabi, Teaching,
) General Knowledge/Current Affairs and Mental Aptitude.

. . All questions in the Test are multiple choice questions.
Each question carries one mark, with fotr alternatives out of which one answer is §
correct. :
There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropnate oval.
Mark your response only at the appropriate space against the number oorrespondmg to
the question while answering on the OMR Response Sheet. '
Marking more than one response shall be treated as wrong response.
Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.
Use of calculator, Moblle is strictly prohibited and use of these shall lead to|
dlsquahﬁcatlon ,

. The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after

completion of Test.
The question paper will be both, in. English & Punjabi. In case of any doubt, English
version will be taken as ﬁnal _
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Choose the word which is opposite in meaning to the underlined words given below (Q 1-5):

ENGLISH

1.  Maverick
(a) abnormal (b) individualist
{c) pluralist (d) conformist
2. Repellent
(a) demanding (b) inviting
(c) disgraceful (d) entailing
3.  Fidelity
(a) allegiance (b) accuracy
(c) disloyalty (d) strictness
4. H Ous
(a) safe (b) perilous
(¢) dicey (d) dodgy
5.  Surface
(a) dive (b) rise
(c) outpour . (d) emerge
Choose the sentence which is correct (Q. 6-8) :
6. (a) A series of incidents have taken place.
(b) Itis a five-men committee.
(¢) From which train did you come ?
(d) This pronunciation is peculiar to Bengalis.
7. (a) Heis wiser than brave. _
(b) February has less days than January.
() He takes no less than two litres of milk everyday.
(d) 1t is the most unique piece.
8. (a) Iwasasked to stop writing, () She denied to go with me.
(c) My hairs stood on end. (d) Iam reading this novel for four days.

Choose the wrong sentence from the choices given for each question (Q. 9 & 10) :

9. (1)
(b)
(©
Ad)
A

Copy it word by word.

She is out of doors.

She prides herself on her wealth and beauty.
The dirty old man was repugnant to me.
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10. (a) The dacoits robbed my belongings.
(b) The first two pages of this book are torn.
(¢) He came to us every third day.
(d) He atoned for his sins by giving alms to the poor.

‘Fill in the blank with appropriate preposition (Q. 11-14) :

11. He was in a hurry and just glanced _- the letter.
(a) . over (b) at
(c) through (d) wupon
12. The superstitious persons believe in many rituals toward _evils.
(a) against (b) off
() of (d) out
13. There is no limit the wants of man.
(@ to (b) for
(¢) in (d) of
14. Cold climate is conducivé working conditions of man.
(a) for ‘ (b) on
(¢) upon (d) to
Fill in the blanks with appropriate verbs (Q. 15-18) :
15. The bridge up by the terrorists only last week.
(a) blowed (b) was blowed
(¢) wasblown ' (d) was blewed
16. We observed that the thief . ‘
(a) chased (b) was being chased
(c) was chasing (d) had been chasing
17.. Never : that he would treat me shabbily.
‘ (a) did I dream (b) Idreamed
(¢) had I dreamed (d) have I dreamed
18. Please see that the patient . '
(a) does not disturb (b) _is not disturbed
(c) was not disturbed (d) has not been disturbed
Complete the sentences by choosing from the alternatives given below each sentence (Q. 19-22) :
19. A politician’s speech must be read the lines; it may have a double
(a) behind; edge (b) between; meaning
(c) among; ends (d) beyond; face
20. There is no glory in war the blood it
(a) considering; sheds (b) comparing; spills
(¢) worth; costs (d) thinking; demands
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21.

22,

230

24,

25.

27.

28.

29,

30.

He lives in the world of

(a) delusions
(c) . allusions

In one election after another, officers have been guilty of serious

(a) lapses

(c) dereliction

(a) listened carefully
(¢) posed indifference

At a party, he is always in high spirits.
(a) talkative |

(c) drunk

(b)
(d)

®)

conclusions
illusions

carelessness

(d) abandoning

. Choose the correct meaning of the underlined idiomatic phrase (Q. 23-25) :
The boy turned a deaf ear to the pleadings of all his well-wishers.
(b) was deadly opposed

of duty.

(d) did not pay any attention

(b)

(d) uncontrollable

cheerful

There is no tove lost between the two neighbours.

(a) a close friendship
(c) alove-hate relationship

Percolate
(a) closing
(¢) perilour

Diabolical
(a) fiendish
(c) burlesque

Intrepid
(a) brave
(c) favourite

Sporadic
(a) regular
(c) expensive

Lbath
(a) hate
(c) reluctant

(b)

(b)

(d)

®)
@

(b)
(d)

(b)
@

®)
(d)

intense dislike
(d) cool indifference

seep
deem

contemptible
approving

supportive
trembling

congealed
intermittent

dislike
willing

Choose the word which is nearest in meaning to the underlined words given below Q. 26-30) :
26. )
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PUNJABI

31. 3ia FEE g T YT A ¢
FIRTE & niug SaHeTaor § Hidamet 3T |
@ udt - ) I
c) H® (d 33T
32, B UFET &G T YT AW
frgadtfasg s 3|
(@ fe (b) W9
© fxosdt (@ frodt
33, THYT S :
Cufipg U W fAs g d |
(a) TBI , (b) urEt
() A (d) T
34, ﬁaﬁmwéa&gﬁaﬁ:
373 fou fooz fefommedt Sfaz ____mser 3 1
@ by ©-
© . @ 3
35, ufSa-feradfSa o faogr de At &at 37
(a) Fu/msd ) TSI
(¢) SIA/BIA (d) uTsgTE
36. e T feime Jot O oun fao3 e S Adt 5T 9 7
(a) 34 :gu | ) To:3
(c) W9 :Fo=t (d) VPISBH : WSAT
37. dafaforssTa YT ad ;-
SGunAnifiErs __ J 1
@ 3 far @) weT
(c) forrd (@ T famr
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38.

39.

40.

41.

42.

43‘

44.

feost fog fudis niggt e de I

(a) TU/BHA (v) foe/are
(cy fdo/oa (@ fmrEmisTs

I fon T feg Haee™ YT &9

JES & PUET HISF YT 9o M@ O3 3 nigt BEM |
@ I by €
(c) upm @ <9

35 f&a =7x feg HoeTr Yo7 &q:

Aoty 3 WSt Aot Sadt 3 3 v Wt oms e fer |
(a3 99 (b) d=IH
(c) &t (d) o=

J5 o5 %0 98 HOTeT YT S T Y9 A9 ¢ .
BB uSuTaad forR @M v 3 ______ &t 3t 9

(a) IS (b) fIF oS
(c) Ut (@ Fusr
T YT I9: o '
JHE st orast __ sdrde |
@ feds | ® I3y
(c) fRous (d fredm
T YT T -
fias &= U3 37 BT st Wi 2 filg 7 ot
(a) J@IgHI (b) TEFHGE R
© dEHmI (d Twoa
T YT I _
WA wdmniae ___ fex 3t 3 ate B &t o9m ¢
(a) HS () 3™

(c) o3 (@ =@
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M e

45,

46.

47.

48.

49.

50.

51.

(@) it usis - & femdt

I o) maet @ oif faazr nRSS Sa AT J ¢

(@ f&9 (b) A

(© # d nu

J5 fod meet T id naAISe Sa e Y ¢

 afss, #fer, ==, ug

 Bu | | ) fsm

© @ wa

Jo fisit maet @ oY foa URST AT I 7
oz, fogur, efenr

(a) v 7 ® 3

(€ weEr ) @ 3

TG YT ;-

| AR gg et __ It At

@ R b) 3IF

(c) Bad @ &

Bid HEE 933 ME § YT a9 ¢

At =Y i A8 A _ fur st |
(a) AT ) IJT
© fo=r | @ fI

3 fit Fvet & il BBt @ i iR R T, I e T uEE A ¢
) FFeRT - HIfE
© fo3% - ogs @ I T - s

Yo fo0 Tt g forgar o Wit uamr feg 9 9
(@) W % mfag famr A (b) ¥ ug famr A
© NeFHmfmImfprFH (@ N AISASI |
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. 52,

53.

5S.

57.

59.

Uwrdt & Qusr &t J:

(@ Wt (b) it
(c) W& (d) v=EEE
fom gz © REe-ds ARt U5
(@) Tur/qumrst (b) fSz9//33d
(c) fB8u/fs6d () wpAI R
AJt AgE-19 o BT O
(@) ARG (b) ufs8sr
(c) (d) sT=Eh
fan mge o gge-A93 RO & 97
@ f533 (b) T
(© =& (d 739
far mav @ »ia 58 »ay At s 959
(a)  SHoE-a | (b) FTHITI-<H
(¢) TTUEH-TT IS T8 d) -V BT
fam A= © HEe-73 AJ &7 959
(@ W () feBs
- (¢) Mfgar (d fRfomr
5 fory =9 faoz faniis st 3 9
(@ ¥ ®) =
© & d =
35 fafimrt fog' fantvs 3
(@ n b) &
c € d =
3 AET gId T YT AW ¢
fwferr o aEs I fx ____ fenrgg adF /et |
(@ U5 (b) B3
(© _ﬁia'a;s' @ RH
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61.

62.

TEACHING

Kelly & Kelly demonstrated that a continued and continuing learning in terms of Pedagogy

includes .

(i) Curriculum & Subject knowledge

(ii) Whole school issues

(iii) Barriers to children’s learning and how they might be overcome

(iv) Cultural knowledge

(@ () &G (b) () & (ii)

c) (i) &(@v) (d) All the above

& 25T 3 AiAdaas 3T ¥ fa niftis fedt @ meet ffT R fsdsa ni3 fsiders

mions g A derd

() usEH w3 femr famrs (i) FI® € A Je

(iii) Sfonrt T fifuz 39 gareet (iv) Afenraad famms
. w3 Qo 3 fa@ €3fonr 7 e 9

@ (@) (i) (b) () »3 (iii)

© @3 G) @ 8uda3s Ad

To transmit relevant, identifiable and dynamic knowledge in the classroom, which of the
following method is most suitable ?

(a) Discussion method (b) Project method

(c) Story telling method (d) Question-answer method

g Y IMER= I ?

(a) feog-zciwy fedt (b) Unae fedt

(c) FTd gz & feut d yEs-§33 fedt
Ability to retain means .

() Understanding (b) Knowing

(¢) Explaining (d) Narrating

gre Fuz & GarsT ©F miFE J

(a) FHS ' CYIRESK]

(c) fenrfim I35 (d) <IEE IS

Teacher’s assessment of student knowledge needs to

(a) be objective

(b) be based on psychology of the students

(¢) move from evaluation of simple tasks to more complex level
(d) in written form at every stage.

feforat famrs & niftminua € HoieE 3

(1) <AZYIR J& Tt I |

) fefomrast @ wafie °3 worfas Je ordter G|

© AOSs B 2 HotaE 3 Afse ue &% W g 9

@ dJIUwE '3 foudt qu 9§z Irdter 9
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65.

67.

68.

The content of student work must be judged on whether students

(a) are writing the sentence properly

(b) have good handwriting

(c) are developing their skills of reasoning, analysis and synthesis

(d) have good command on the grammar

fefenaet @ S & ferr miaRt = Ere wige O adter 3 9 fefomrad
(@ TS 3P a0 7%

(b) et Gaft 9 | _. |

(c) »inEnft 33, ferdrz »3 ARdEE & fdassret o e a9 99 05
) fenroaz €3 Soit uaz D

“What is a three sided figure?” is the example of

(a) Explanatory question (b) Reasoning question
(¢} Recapitulatory question (d) Developing question
“foa Ba-gtorfgft 37 __ _ # @ogesd

(a) fenifmmrra yas - (b) . 3IYTS YFS

(c) yEtiafonsna yrs - () feomRs yEs
Lesson plan helps in

(a) the removal of difficulties llkely to arise during teaching

(b) removal of personal problems of the students while teaching !
(c) . the achievement of good scores

(d) the completion of homework

U Gt ROTEsT aadt 3 ,

(a) uaﬁiﬁamﬁwﬁzmmaﬂawgaz@a%a

b) u=8z g% fefenraeinit Shit st mifimret o@s fg

(©) I3 i yuz 395 g

(d) w3 T AN YT 395 &g

Which method will be most suitable to teach a large number of students ?

(a) Role playing - (b) Debate method

(¢} Discussion method _ (d) Lecture method
mmm&mwmmmﬁamm
(@) gk mifed fedt | (b) 3II-fesox feit

(o) feurg setugr fodt (d) Soroq fedt
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69.

70.

71.

72.

Choose the incorrect : _

Essay type test helps to ‘ .

(@) Induce good study habits in the pupils

(b) Encourage guess work to large extent

(c) Develop the power of originality of thought
(d) Organize ideas effectively

a3 o 9T &9 |

fodu gt 2re FofesT R 06—

(a) fefenradtnt 29 Uzl o daft nres Uer o965 et
(b) WEHES IH § 93 Yug 3 G3rfas w9 BE
(© feora ot Hieasr & mat v o &6 et
(@) feorat § ygerd! <91 5 Halfos 96 BE

Which teaching model brought the student into the scientific process and help to collect
and analysis the data, check out hypotheses and theories ?

(a) Concept attainment model (b) Picture word inductive model

(¢) Mnemonics - (dy Scientific Inquiry
fanfﬁiﬁwm%ﬁﬁnﬁﬁgmqfa%wﬁgfmﬂ?%m%mﬁwgﬁa&
JI5, ﬁﬂmmmﬁﬁm@mmﬁgmﬁa?

(@) FIwd Yust HsS . (b) SHRG-HET MEHETSHR HES

(c). forfssm @) fefomiss AG

Retiprocal teaching was designed specifically to teach .

(a) Communication skills ~ (b) Listening and reading comprehension
(c) Writing skilis (d) Skill of Explanation
w@mém&m@ﬁaﬂﬁwwﬁaﬁm

(@ ¥ fedsset ®) FRHIHE § HEE 713 UFE

(c) oz € fedas d) fefrrfint 595 & fodas

Who invented the term Zone of Proximal Development to capture the problem of
understanding the students’ level of development ?

(a) Jean Piaget (b) Edward Lee Ted Thorndike

(¢) Lev Semyonovich Vygotsky (d) Erick Erickson
w%mﬂ%ﬁmémﬁmﬁmﬁmmwm‘ﬁamm
Srmite & dn R A AT | |

(a) & Uae ' (b) Ws<IB ¥ 3 B

) @< hfigsfex feaararet @ s mfsars
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73.

74.

75.

76.

77.

78.

Which of the following is the last level of cognition according to Bloom’s Taxonomy ?

(a) Evaluation (b) Analysis

(c) Comprehension (d) Application ‘
BYH SIATGHT igATg Ja fefanit & fxaar AR famms o M8 3 dowr dug 3
(a) HBET (b) ferrE

(&) HIES (@) fesarg

Which of the following research gives immediate solution to the immediate problem ?
(a) Fundamental research (b) Applied research

(c) Descriptive research (d) Action research

Jot fefsnft 189 faast 4w 33a0a mifimr o 33t I fifdt 3

(a) Hisx vm (b) feoex o

(c) TIE&IMA A (d) riHSHEa

What is MLL approach ?

(a) Maximum Level of Learning (b) Minimum Level of Learning

(¢) Minimum Level of Listening (d) Maximum Level of Listening
MLL uygg &t 3 .

(a) wiftrrs o @ean Yug (b) nrifms T f58a3m vug

(¢) AEs T f58a3 Uug (d) mes T 8oz Uug

Learning, in which each individual contribute their particular expertise to a shared learning
history, is often called as .

(a) Co-operative learning (b) Inter-disciplinary learning

(¢) Distributed learning (d) Experiential learning
ﬁﬁwmﬁa@awm&ﬁnm?meﬁmfﬁw@‘@ﬁ
MERI o8 d

(a) “Rfgerdt i (b) riz9-ferr 439 fiffimr
(c) fezfes fAfimr (d) yshrswx fFfmr
What is the role of the teacher according to the Constructivist perspective ?
(a) Role of an advisor (b) Role of classroom manager
(¢) Roleofa friend (d) Role of a facilitator
JTETSHI NRBAE T nigA niftming &t ot gfiar 39
(1) T&x Fwox9 & ghimr (b) 3 yEuR & ghiar
(© &= fitzg &t gfiar (d) % AgH3 ¥ @B & shiar
At which level of teaching an idea can be critically examined ? _
(a) Knowledge Level (b) Understanding Level
(c) Reflective Level . (d) Application Level

© fan ug ‘3 ¥ feu o nigasHa WiaE ST A AT 39
(a) fomrs e g 3 (b) PHS T Yue ‘2
(c) mHifeme YT <3 (d) feo9eume 3
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79.

80.

81.

82.

Self regulatory knowledge includes elements of .

(a) Formal Knowledge (b) Informal Knowledge
(c) Impressionistic Knowledge - (d) All of the above
R-feepfas s e ¥AimdR s

(2) Sued famrs (b)) PEBUSSA fams

€ yF=<e! fars (@ Pz A

Discussion in the class will be more effective if the teacher

(a) participate enthusiastically

(b) informed the students about the topic in advance

(c) write the topic of the discussion on the blackboard

(d) does not introduce the topic to the students in advance .

T3 g fogrg-cateTr 209 ySendl JRar vad mifte
() 8smoas 3w |

(o) fefanraet § feit a3 ufost & fer 3

(©) femg-weeyfeRd sBa-des 3 ferry

d) Feforadn § feit &7 ufgst 3 g &t aee€e J

Maxim, according to which the children should be taught about which the children already
have some knowledge is known as . ’

(a) proceeds from whole to part

(b) -proceeds from particular to general

(¢) proceeds from known to unknown

(d) proceeds from analysis to synthesis

Nt fare nisAr font § 6F & uler It 3, fam ) dfent & ufoe A 9w
s, ___waQeE o

@ AT EdsduT - @) feRR 3 Augs 3@ FoT

© wfEImffsista (@ fHeEE3 AR I Yo

When a teacher uses gestures, or some other behavior to reinforce students’ learning,
he/she uses ‘

(a) Positive verbal reinforcement (b) Negative Non-verbal reinforcement

(c) Negative verbal reinforcement (d) Positive Non-verbal reinforcement
ﬂ%mﬁnmaﬁfl%waﬁnﬁ%ﬁwsﬁgwﬁsmaé}ﬁa?ﬂigsﬁaﬁm?qﬁa
S ITQI______ ey Eee J |

(a) USSH AEfeR 83AT ®) fozrva A Aafed §3F9

() fa=zva aafex @3A @) UsH de-Frafex QoA
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83.

85.

86.

87.

Which of the following is not the objective of the Programmed Instruction ?
(a) To complete the syllabus as early as possible

(b) To help the students to learn by doing

(¢c) To help the students to learn at his own pace

(@) To help the students to study by himself

J5' fefantt 199" faoar trendy fagem = Qem adt D ¢

(a) uagH frigt Aeet Hae § Al yaT S

(b) fefenrganr & dH a9 a5 fifas %9 Forfesr a9t

(¢) feforraet § Rt nirust ot °3 fituz f¥9 FofesT st

(d) fefenrgent & @aat gnrar iy U3 €9 RoTfesT aaat

The review that involvcs both the teacher and the pupil is called

(a) The daily lesson review (b) Topical review

(¢c)  Unit plan review (d) Co-operative review

mmﬁgmww%mg@m FTEe

(a) Iar us fsdhas (b) FEsa fel Aadt fodtus
(c) fearst Grer fisdhus (d) nAfgat fadtus

The concept that developed from the first experiences with things or event from the
environment is termed as

(a) Formal Operational concept (b)  Concrete Operational concept
(©) Pre-oEerational concept (d) None of the above

A g |

(a) fe=a9a niHet orasr (b) SH WHET TrIET

(©) YIR-niHE TIET | (&) Gudaz It &t
The question that leads to expected answer is known as

(a) Narrow question (b) Broad question

(¢} Closed question (d) Convergent question
yms frim & Aees €39 der 9, aoger

(@) Aoz yms - (b) fere ymes

() dEyms @) It ymEs

The process of Imagination is best supported by
(a) Sharing stories, explanation and descriptions

(b) Opening access to distant practices through excursions, visiting, talking and observing
(c) Empathizing A '

(d) Documenting historical developments

T EtylRfonr e worgr mgEs dmr me Y |

(@) STEM Aot g, fanrfimt i3 f9si a9s

(b) ﬁawmmwn@mﬁgﬁmwmgu@gm

(c) 3IdE T

(&) fefsomz fegmt & erzastt U T
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88. Which of the following is not the characteristic of High order thinking skills?

(a) It encourages students to integrate school knowledge and the knowiedge they acquire
outside school.

(b) It empowers the students with skills that help them to evaluate and negotiate complex
situation. )

(c) It helps the students in rote-playing.

(d) It develops students’ creativity to take hold of opportunities presented by the

~increasingly varied local and global economic contexts.

Tt fiifanrt 39 faost €9 gy A fadseret & feRmsT &4t 9 ¢
(a) f&aﬁﬁmaaﬁwaﬂaﬁﬁmm%@ﬂﬁwaﬁ@amgmma@aﬁ
' Smmaaaaé’r@swfas'aaéﬁl
) hﬁma@wmmmm%ﬁmﬁmm?
Wmné@nmah&ffeenaﬁ?aaé}mmi
(c) fea fefonmadrt § ghivar fozr8z 9 vee aadt 3
(d) Wﬁ@am@@e—@m&mwvmﬁ%a@m%m
x5 Bt fefonraet S F9a=3HasT o feaH aaet J |

89, Contextualization means
(a) To make education relevant to local contexts
(b) Focus on educational reforms.
(¢) Experiences of the students.
(d) Reading contexts of every topic
YRANEEs o gy 3
(a) fHfipr 3 FESR YA @ nisgs sg@e
(b) At Forgt °3 AT FTE
(c) fefonrast @ nigse
(d) T fem © ATgst § UZT

90. To help the student to deal with the complexity and ambiguity of the content and context of
knowledge, teacher should
(a) Manage the classroom properly.
(b) Allow students to disagree with each other while faclhtatmg reﬂectlon on why they
disagree.
(¢) Introduce group discussion in the classroom.
(d) Provide notes of the each topic in a simple language.

Méﬁmmﬁmﬁmﬁmmmﬁaﬁﬁmﬁﬁ

AofesT a9 @2, miftmu @ Idter 3

(@) T3 T 3 BaT T Y§d FIS

(b) 87 nirfonz a8 75 83 mitfter oo feg Agss fefort fefenradn § e gra
F wiAfaus d= & nrfamr 2=

(¢) 713 ¥T Ay fegme ScfeT g

(d) I e  F9s 3 99 der o8
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91‘

92.

93.

9%4.

95.

96.

GENERAL KNOWLEDGE / CURRENT AFFAIRS

Who among the following has not won an individual Medal in Olympics ?

(a) Leander Paes ‘ (b) Saina Nehwal

(¢) K.D.Jadhav (d) Rajwardhan Singh
Jot fafamit 139 far 3 88fux 80 fona e 3Har &dt Riffser 9
(a) SESIUR . (b) Ffes 30w

() o. 3t A= (d) TvIUs fRw
The 2016 Olympics will be held in

(a) Beijing (b) Barcelona -

(¢) Rio de Janeiro (d) Athens

2016 §3fua Bst a8 daaini

(@ difda Ry (b) ToEs 9

(c dE-F-3HAE @) zuaa o

Indian Institute of Advanced Studies is located at

(a) Shimla : (b) Dharamshala

(c}) Chandigarh (d) Solan

&8s fErdife@e g nisem Redtn @ I3 3

(@ T feu (b) UHEE fe

(c) dshag feu (d) Posfer :
King Bindusara belonged to which Indian Dynasty ?

(@ Gupta (b) Maurya

(c) Magadha (d) Pandaya

g fie o far 39t wad &% Agus At ¢

(@ I3 b)) I

(c) HIm (d utstr

Which is the largest shipbuilding unit in India ? _

(a) Cochin Shipyard (b) Hindustan Shipyard
(¢) Goa Shipyard _ (d) Garden Reach Shipyard
393 €T AiTdt A0H SE8F <t 13 3 ¥t fearet oot 9

(a) ST fAueras o) fiorss finmss
() dmr fauwras (d) I35 e feres
Which is the first talkie film in India ?

(a) Alam Ara : (b) Sant Tukaram

(c) RajaHarishchandra (d) Pundalik

g3 g ufodt ot femm faaft 9 ¢

(a) BH rgT (b) HI ITIH

(¢) IvT JStEEET ) Ustsx
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98.

100.

101.

102.

Narendra Modi is India’s Prime Minister.
(@ 14" ®) 16"
© 15" @ 13®
ofdeg Het oz & Yo 13t 3
(a 14 (b) 168
(c) 159 @ 13
“National Constitution Day’ is on - .
(@) 26" January © (®) 2" October
(¢) 14" April (d) 26™ November
I Afeus feer @ ¢ 9
() 26 7&<SP | (b) 2 nEFEIE
© 14 W53 d) 26 55993
Which of the following is not a Union Territory ?
(a) Lakshadweep “(b) Puducherry
(¢) Sikkim : - (d) Delhi
a5t fufanit 23 for o edt PR YRR AR T 7
(a) TIFE ) ysEdt
(c) fifoH @ &
Which city is famous for Brahma Temple ?
(a) Pur (b) Kashi
(¢) Pushkar ‘ (d) Ujjain
fraer mfa gou 1ifes &St HEgI 3 7 ,
@@ ust | () TH
(©) YyHSd @ €ns
The longest wall in India expands over 38.5 km. It was built by
(a) Rana Kumbha ~ (b) Sher Shah Suri
() Rana Sangha (d) Tipu Sultan
g3 g rg 3 &4t dleg acu MFaH FEYfere foae
agerfenr fanr A , _
(@) T ) AIFTES
() IT AW @ SIS
The first train in India ran between . ' :
(a) Mumbai and Pune ‘ (b) Kolkata and Siliguri
(c) Mumbai and Thane (d) XKolkata and Sealdah
393 g ufodt 35 fegars It Al S
@ A3y ®) S w3 et
(c) Hestnm2@d (d) TS M3 RGET
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103.

104,

105.

106.

107.

108.

What does GM in GM crops stand for ?

(a) Genetically modified (b) Globally marketed
(¢) Genetically modernized (d) Gilobally modernised
GMerst ReGM S g= d -
(a) nra<fis RAELS _ (b) fere-fonroa sAtfgs
(c) naRfEa nrafalgs (@) fere-fonmua nufsfys
Which of the following is the biggest fresh water lake in India ?
- (@ Loktak Lake . (b) Dallake

() Sukhna Lake (d) Wullar Lake

It fefantt fE5° foodt o193 ¥ Az 3 &t 3wy ued &t vl D)

(a) I3 E® : (b) 3Z

(c) mus B @) o9 Hs

Where in India is the Equitorial Satellite Launch station located ?
(a) Sriharikota (b) Thumba

(c) Pokhran (d) Hassan

393 Ko 63¢aiBs Poweie st i2ns f3d Afas 3

(a) At oSt sder o) g

© UaEs @ wTE

When is the earth farthest from the sun every year ?

(@ 4"y () 21" March

() 22™ December (d 3" January

USSt 99 % JaH &% A8 3 ed a get B 9

(8 4yet (b) 21 HJg

() 22 foAsg @ 3 7eed

Dandiya is a popular dance of

(a) - Maharashtra - (b) Gujarat

() Rajasthan - (d) Madhya Pradesh
StEor i58 T HEgT s Y -

(@) HTIAHZT or (b) IJATI T

(© TrrEE T d) Hoyeme

The Rath Yatra at Puri is celebrated in honour of which Hindu deity ?
(a) Jagannath (b) Siddhi Vinayak

(c) Venkateswara (d) Mahavir

Yt ol 9w g3 fom g 3oz 2 mers RS Marst it S

(@) va&H b) o fesom

() Fxerew @ e
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109.

110.

111.

112.

113.

114.

Who is the current Governor of Reserve Bank of India ?
(a) ArunJaitley (b) Montek Singh Ahluwalia
(¢) Raghuram G. Rajan (d) Pranab Mukharjee
Frgdt favor ¥x & FgeT Jedsd 38 §
(@) wIE HIF (b) Fea i mogeEh
() TuEH . TG (d) yoE HuSH
Which of the following is not as essential qualification for contesting election of Lok
Sabha ? S ' ‘
(a) Citizenship of India (b) Soundness of mind
(¢) Ageof25 years (d) Graduation
| BT AT w36 wE It fifant Y faodt Aget vasr & 9
(a) 393 T FAfGAIT (b) formar & midar
(©) 25 A% & 8Hd @ rE3R
Sir C. V. Raman got Nobel Prize in which of the following field ?
(a) Physics (b) Medicine
(¢) Chemistry (d) Peace
7S 7. . o 3 Tot fefe S oo 939 R Buw fean yns df3r /i
(a) 33 fefamms (b) TTEMT
(c) anrfes fefomis (d) ==t
Which of the following is not a natural calamity ?
(a) Earthquake : (b) Nuclear accident
(c) Tsunami (d) Flash floods
Yo+ ffant o5 forost ¥ goadl mies &' 3 2
(a) FIG - : : ) fs8a8t wear
(c) m&H d) »OeA TZ
Who was the first speaker of Lok Sabha ?
(a) Hukam Singh (b) B.R. Ambedkar
(c) G.V.Malvankar (d) Maulana Abul Kalam
& AT o ufos miea o H ¢
(a) T fAw () . nra. nigeed
(© . Heiae - (d) FEE HEgs TEH
How many bones are there in an Adults’ body ?
(a) 205 (b) 204
(c) 206 | d) 207
R awsar @ AT g s St Jéni 95
(a) 205 (b) 204
(c) 206 () 207
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115.

116.

117.

118.

119.

120.

Who is known as the ‘Waterman of India’?

(a) H.N.Bahuguna (b) S.L.Bahuguna

{c) Kailash Satyarthi (d) Rajindra Singh
‘TeInE e et T 39 I fan g Wl Awr Y 7

(a) V. W, SggIET (b) WA, NB. FgIE

(c) S»m AfMradt (d) a9 iy

Web pages are written using ,

(a) HTTP _ (b) FTP

() URL (d HTML

" U o8 7w I :

(a) HTTP T Y& 5% - (b) FTP R YGd &%

(¢) URL T YGdl 5% (d) HTML ® yuidl 5%

Which is the capital city of Arunachat Pradesh ?

(a) Guwabhati (b) Itanagar

(¢) Gangtok (d) Manipur

ng&ES YyoH of Iaust Afgg I

(a) I (b) EFreaag

(© dada - @ W

An orgamzatlon s introductory webpage is called its

(a) Portal (b) Blog

(c) Homepage (d) Website

foR Arer &7 nrdfes U9 ot a@@er &

(a) UdSH b) T

() dHuA () SmFElr

Who was the first person to go into space ? _

(a) Yuri Gagarin (b) Lance Armstrong

(¢} Neil Armstrong (d) Buzz Aldrin

ueg 89 A e ufaer fan@idt d At |

(a) Gt IarEts , (b) SEA -NIIHATTT

(c) 3B nIIHACIHl d) == mEsfas

Who is the Finance Minister of Punjab ? :

(a) AnilJoshi - (b) Arun Jaitley

(¢} Parminder Singh Dhindsa (d) Bikramjit Singh Majithia

e o RS st AT Y 7 |

(a) WIfes AE (b) nigE AZH

(c) udfifes Fw &z (d) fo=aHiz fw Hetdhor
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MENTAL APTITUDE

121. Which of the following indicates the best relation between Judges, Thieves and Criminals ?

(a).O@ ® @o

'(c) | | @

o ()© e (Q)o |
© | @

122. Which of the alternatives replaces the question mark ?
Violet-Yellow, Blue-Red, Indigo _2_

(a) Green (b) Yellow

(¢) Orange (d) White

foaoz feamu yrs fg & AEeyTst &9er 9

TSt - Ui, e - @s, BEa - 2

@ ) W

(c) oAt | (d mE ;

123. Which of the following is similar to “3, 7, 117 ?

@ 2,921 | () 4,6,14
(¢ 2,17,23 (d 4,916
ot ffurt fed fagar 3,7, 117 AHQU 3

@ 2,921 (b) 4,6,14
() 2,17,23 @) 4,9,16
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124. If “40” represents BAI, what number will represent APE ?
(@) 80 o | (b) 40
(c) 70 : (dy 50
Hold “40” BA1§ T9A@Tr 3, fXos nidt APE g S9raam
@ 80 ®) 40

© 70 d 5o

125. Rohan slept at 6.45 pm and wakes up at 12:00 noon, how many hours did he sleep ?
(a) 5 hours 15 minutes - (b) 6 hours 15 minutes

(c) 6 hours 45 minutes (&) 17 hours 15 minutes
| $35 6:45 W 3 13T i3 Tufizg 12:00 =3 G5 31 Qo i3 ul2 Hiar |
(@) 5uie15fife ’ b) 6vie15filz
(c) 6ule45fie _ @ 17ve15fHe

126. In a group, number of girls was more than the number of boys. If ¥ 15 are given to each

boy and ¥ 30 to each girl and total of ¥ 465 is distributed, what is the total number of girls

and boys in the group ?
{a) 15 (b) 18
(c) 16 d 19

& AT 139 s3cthtt & Aftmr Safent & After 3 frer i | a9 sda 5= § 15
e 2 8 13 T3 Il § 30 TuR O3 2 »i3 IH 465 JUR 3 TR | Aa S
Ittt mi3 w3ttt & J At &8t 9

(aj 15 | (b) 18

(© 16 d 19
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127.

128.

129.

If P + Q means P is the father of Q, P — Q means P is the brother of Q, P + Q means P is
the mother of Q and P x Q means P is the sister of Q. Which of the following does not

show the relation “A is the aunt of B ?

(@ AxC-D+B () AxC+D+B

© AxC-D=+B @ AxC+D-B

AT P+Q T nigE I, PQT AT Y, P-QE nEE I P, QT 3T I, P+ QE MIE I P, Q
FAHT I MIPx QU nEg T P,QH 3T T 1 It fifamt 5" oz fea Adu yeafis
&I e “A, B & nifg 97

(a) AxC-D+B (b) AxC+D+B

(¢ AxC-D+B (d AxC+D-B

A is the father of C and D is son of BI. E is the brother of A. If C is the sister of D, how is B
related to E ?

(a) Brother-in-law {(b) Husband

(¢) Sister-in-law , (d) Daughter

ACTAZTINMID,BT AT EATITJI | 79 C,DH 3% 3,37 B, Exs o
U3 J |

@ T ®) udt

© s fme @ U

Which number comes next in the series 23, 29, 31, 37, 39, 45, _1_

() 46 (b) 49
(c) 47 | | (d 53
w3 ¥ v via faaz BT § 23, 29, 31, 37, 39, 45, _2
@ 46 B 49

(c) 47 (d 53

Paper-I (Aptitude Test) , 23 ‘ ‘ _ A




130. Which number replaces the Question mark(?) in the series 135, 22, 29, 36, ?, 50, 57 :

131:

132,

(@ 43 . () 40
() 42 d 4
ymw 95 @ Fes 3 g wia mi@er 3 15, 22, 29, 36, 2,
(a) 43 (b) 40
(c) 42 _ @ 44

What comes next in the series ?
BFI, IMP, PTW, 2?2

(a) XBF (b) WAD

() XAE " (d) WBE

3t &9 nidl it M@ 2

BFL, IMP, PTW, ?

(@ XBF | (b) WAD
WBE

(60 XAE @

Which figure comes next in following question ?

IS -

yHs fds € mas 3 faozr {939 mar

J©= -

&

O WD
o &
o 3

50,57
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133. Which figure comes next in following question ?

134.

ST -
@ ‘Z‘ | ®) 'X
© lZ | o 7|

yis s 2 mars 3 fagsr fgzg niar

| |V
@ Z| ‘ (b) R
© Z | @ ‘7\

Here are some words translated from an artificial language.

grana milka means big free
pini milka means little tree
milka hoon means tree house
Which of the following word could mean ‘big house’ ?
(a) grana hoon L (b) milka grana
(c) pini hoon , (d) pini grana
e g3 Foe o B geed T 3 nigereeis famr O
grana milka T »FE J I3 TR
pini milka T »FE J 2 TIUT
milka hoon =¥ 98 J TIHI UF
ot fofait RS foarer nigg ‘37 wa’ I AIET T |
(a) grana hoon (b) milka grana
(c) pini hoon (d) pini grana
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135. If daftafoni means advisement
“imodafia means misadvise
imolokhi means misconduct

which word could mean statement ?

(a) Kratafoni ~(b) Lokhidafta
(¢) Kratadafta (d) Lokhimo
A daftafoni € »9g J advisement

‘imodafta ¥ 98 J misadvise

imolokhi € 498 3 misconduct

fad3 HET 7 »wi9H statement I AT T |
(@) Kratafoni (b) Lokhidafta.
(c)- Kratadafta (d) Lokhimo

136. The mean (average) of five numbers is 100. If one number, 80 is removed from the list,
what will be the mean of remaining numbers ?

(@ 110 () 95

(c) 105 (d 90
ﬁ;rn?afe?ﬁmaloo%r|ﬁaaf§anh,30§§ﬁﬁ§a?ﬁ3rﬁi@3wara°m?a+€r
viAS & gt

(8 110 (b) 95

(c) 105 (d 90

137. If in a tournament, every player plays with each other.player and the total number of
matches played is 36. How many players participated in the iournament ?

@ 9 ®) 12 A

(c) 18 . d 6 ;
fect gaarite 9 Yom 99 fot g O3 fimwdt o5 Bser 3 w3 35 36 e 33 @
5 | gIane 9 au 3 g & R fomnrr

@ 9 o 12

(c) 18 d 6
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138.

139.

140.

If a means minus(-), b means multiply(x), ¢ means division(+) and d means plus(+), what
is the value of [90d 10a30¢ 10b20]?

(@ 27 ®) 20
(c) 40 (d). 140
ﬁaa@érmaWF%EE’W%W(X),-B?W%'W(ﬂm%egmala%
M (+)[90d 10230 ¢ 10b 20] = HS & J?

(@ 27 () 20

() 40 : (@ 140

Six persons A, B, C, D, E, F are standing in a circle. B is standing between F and C, A is
between E and D, Fis to the left of D. Who is between A and F ?

(a B (b) D
© C @ E
292 A,B,C, D, E,m3 F ¥a Ja7 g u3 76| BASTFni3 C feagad =7 3; A,En3 D
fegma 3, F, DI | AnBFfegaa dg 9

(@) B () D

© C (d E

If the side of a square is increased by 20%, its area will increase by
(@) 20% (b) 40%

{(c) 80% (d) None of the above

Hag zaq © ¥ 3w § 20% = 37 famrr 9, ferer B39ew <u Aar

(a) 20% (b) 40%
(©) 80% (@) Suda3 g At
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141. If A=35,B=6,C =7, D = 8 and so on, what do the following number stand for ?

142.

143.

17,19,20,9, 8
(@ MUTED () NOTED

(c) MOPED (d) NUKED

AAIA=5B=6,C=7,D=8 ni3 oA ST G I I B i ot g= I

17,19,20,9, 8

(a) MUTED (b) NOTED
() MOPED (d) NUKED
K 1 J
T 20" R* —~
10 10
(@ Tg ®) 19
11 . 11
© 19 @ T3
yrsfog € FErs 3 & nrar
K 11 7
~RET A
- 10 10
@ 13 _ b 79
11 | 11
© 19 | @ T3

Find the wrong number in the following series.
52,51,48,43,34,27, 16

@ 27 | b) 43
© 34 @ 48
Jot Bt T a3 niw BT 52, 51,48, 43, 34,27, 16
@ 27 () 43

(c) 34 (d 48

28
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144. If the angles of a triangle a®, b° and 77° are in arithmetic progression, what is the value

ofb?

(a 60° ' (b) 67°

© 70° (@ 57°

A3 i fodiz 2 &z o°, b ni3 77° Wiz Afes ot 9 35, b s ot 3
(a) 60° (b) 67° |

(c) 70° (d S57°

145. LJH: KKI:: CIA: _?
(@ CBC () BIB
" {¢) DBB (d) BBC
| ymshas ¥ AES 3 S niar 7 |
LJH: KKI:: CIA: ?
(a) CBC () BIB
() DBB | @ BBC

146. Which of the following is different from others 7

(a) DCBA | ®) LKJI
() MNOP | () HGFE
Yot ffanrt 5" gz Joa' 5% 9 I

(a) DCBA (b) LKIJI
() MNOP (@ HGFE

147. If“ CARPET” is coded as “TCEAPR”, what will be the code for “NATIONAL” ?

(@ NLATNOLI (b) LNAANTOI

() LANOITAN (d LNOINTAA

53 “CARPET” § “TCEAPR” &% ff3r Aver 3, 3t “NATIONAL” & &5 %97
(@ NLATNOLI | (b)) LNAANTOI

() LANOITAN (d) LNOINTAA
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148.

149,

The time of Saurabh’s watch is half past nine. If the hour hand points towards east, to
which direction would the minute hand point ?

(a) East (b) North

(c) West (d) South . .
Ao S udt o Mt AR & I 1 Aiare ulfentt =t et 9w 3 fomrer ot O 3 fitet @
mEt far femr ¥ femrar a@aft ¢

(@) Y93 ) (b) €39

-t

(¢) UsH (d) <THT

Ih a row of children Sohan is 9" from the left and Mohan is 13* from the right. When they
exchange their positions, Sohan becomes 17 from the left. What is the new position of
Mohan ?

(a) 21 '(b) 18"

@ 2™ @ 17"

150.

dfonit & fEa a3 Y9, Ao 98 i 3 82 499 3 3 »i3 Hos Mt uh 3 392 Bug 3
31 7 B nnEinit Aot F nivw-Tot 29 T6, As WUR F AP Sag ¥
e 31 Hos o &<t AfaSt ot 3 ¢ ,

(@ 213 | (b) 183F

() 27& d 173

A car takes 6 hours to cover a journey at a speed 45 km/h. At what speed must it travel in
order to complete the journey in 5 hours ?

(a) S54km/h (b) 52kmh

() 60km/h (d 50km/h

i g 45 kmvh & 3t 3 R Fig 3nr 9 e 6 Ui B Y 1 for Few § 5 ifentt g
Yo F95 BT fon & R At 43 daa v

@ 54kmh ®) 52km/h

(c) 60km/h . . (d) 50km/h
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